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Ritp:/farbe i tu-berlin.de/ CED2ICED 2L ONA.TXT /.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

LABJNDu2 standard lightnessl*

Ya=Yw - nc=100,

"L aganDu2 =IN(A 10+ AnY)(AgnAon)  (Ya/100<Y<=Y,o)
I* LaganDu2 =IN(A 10+A2 ) (A2Aon)  (X=YIYy)
1 (3.6)=261 ) ,(18)=593 * y(90)=924

log[l* /I* ,]=0, m,=0,33
L* =49, I* =593

I* 66=923,60, Ay=L. {1 Ap,=0,0876, §—0,84
* 16=593,26, A= (@l4, A0, op
*3,65260,92/ =5 | %26 Y=18

. =1

application
range

mxy=02  Xw=5

LABJINDu2
tristimulus value difference
YoemYw  nc=100,

I* LABINDU2 =IN(A 17+ A2RY)/(A2nAon)  (Ynd/100<Y<=Yyo)
I* L ABINDU2=IN(A 17+ A2) (A2 Aon) - (X=YTYy)
dY:Aon(A 1n+A2nY):A0n(A1n+A2UX) XZY/Yu
Aonpss=L5, Aona=1,0, see CIE 230:2019

L »

P 4

I*,=593 dY,=0,1Q dY,/Y,=0, 0056

10géP)=0,48, MAES, A, =0, /16' ¢=0,84=
dY26=0,10, A=0,014 £, oods appllcatlon

d¥3,6=0,03 Y.=1° % ¢=0,10 o

XN=0,2

log (AY/Y) LABJINDU2

_ tristimulus value sensitivity
S=@vr) YotV nc=100
I*LABINDU2 =IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Yno)
L aganDu2=IN(A 10+ AoX)/ (A Aon)  (X=YTYy)
AYY=Agy(Arr+AonY)Y=Agn (A1 A )Y
(dY/Y}y=0,0050, A=1,0, Ay, =0,0876, G=0,84
(dY/Y)g=0,7056, A=0,014, A4,~0,0048
(dY/Y) ¢=0,0038 Y,=18, dY=0,10
I0g(dY/Y)= 224m=-010s =~ _
«=593 dY,=0,1Q dY,/Y,=0, 0056I -

application

b

xN=0,2 Xw=5

LABJINDu2

tristimulus value contrast

Yoc=Yw nc=100

I*LABINDU2 =IN(A 17+ A2RY)/(A2nAon)  (Ynd/100<Y<=Yno)

L aganDu2 =IN(A 10+ A2X)/ (A Aon)  (X=YTYy)

YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]
(Y/dY};=198,78, Ay=1.0, Ay =0,0876, ¢=0,84
(Y/dY)g=176,51, A,=0,014, A=0,0048

i~ L56Y wlaaaswm&%o o

C,=(Y/AY)

application

LABJNDu2 relative standard lightnessl*/I* ,
I Yoc=Yw - nc=100,

1 LagaNDu2 =IN(A1ntA2nY)(AznAon)  (Ynd/100<Y<=Y,o)
1* | ABaNDu2 =IN(A 10+A2X) (A2pA0n)  (X=Y1Yy)
1 y(3,6)=261 1% ,(18)=593 [* y(90)=924

I* gofl* ;=1,55, Apy=1,0, Ay, =0,0876, ¢=0,84
* 1g/l* =1,00, A,=0,014, A4,=0,0048
I3 ol =0,43,,=593,26 Y=18

log[I*/I* ;]=0, m,=0,33
L* =49, I¥ =593

log(AY/AY,) LABJINDuU? relative

tristimulus value difference
NNy Yoc=Yw - nc=100,
1L ABINDU2 =IN(A 17+ A2Y)/(A2rAon)  (Ynd/100<Y<=Yoo)
1L ABINDU2 =IN(A 17+ A2)(A2uAon)  (X=YTYL)
dY/dY =(A1+A X (A1 +AY)
dYeg/dY,=4,43, Ay=1,0, Ay=0,0876, ¢=0,84
dY;g/dY,=1,00, A ,=0,014, A;=0,0048
dY3 ¢dY,=0,31 Y,=18, dY=0,10 )
p
1Q dY,/Y,=0,0056 ,/’/

XN=0,2 Xw=5

log [(AY/Y) 1 AYIY),] LABJINDuU? relative

tistimulus value sensitivit)
SISU=EYNIAYI), yotv S Ve ge

nc
1L ABINDU2 =IN(A 17+A2RY)/(ArAon)  (Ynd/100<Y<=Yoo)
11 ABINDU2 =IN(A 10 tA2) (A2 Aon)  (X=YTYL)
(dY/YY(AYIV)=[(A 1+ A )X (A 17+AZ0)
(@Y/Y}o(dY1N=0,88, Ay=1,0, Ay, =0,0876, ¢=0,84
(dY/Y)g/(dY/Y)=1.00, A=0,014, /5,=0,0048
@YYy g(dY/YV)=1,24 Y, =18, dY=0,10

EES
log[(dY/Y)(dY/Y) =0, m=-0,13 1 .
I* =593 d¥,=0,1Q dY,/Y,=0,0056 | ?g’npg','ga""”

=1

XN=0,2 Xw=5

log [(Y/AY) 1 (YIAY),] LABJINDuU? relative

tistimulus value contrast
ClCr=(YIAY(YIAY)y . =y, - =100

1L ABINDU2 =IN(A 17 +A2RY)/(A2rAon)  (Ynd/100<Y<=Yoo)

1L ABINDU2 =IN(A 17+A2)(A2uAon) - (X=YTYL)

(YRYY(YIAY) =X /(A1ntAz ) (A 1n+A2,)
(YIAY}o(YIdY)=1,12, Ay=1.0, Ay, =0,0876, ¢=0,84
(Y/dY)g/(Y/dY)=1,00, A ,=0,014, A;=0,0048
(Y/dY} ¢(Y/dY)=0,64 Y, =18, dY=0,10
log[(Y/dY)(Y/dY),]=0, m,=0,13

*,=593 dY,=0,1Q Y,/dY-~ (6 ~
r 1 application
1 range
Iy =1
Sl (S
XN=0,2 Xw=5

LABJNDu2 standard lightnessL*

YoeL*w -~ nc=100

L* L ABINDU2=IN(A 15+A2nY)/(A2rAcn)  (Ynd/100<Y<=Y,0)
L* 1 ABaNDu2=IN(A 10+ A2 X) (Ao Aon) - (X=YTY)
L* (3,6)=261L* ,(18)=593,L* ,,(90)=924

Iog[L*/L*u] 0, m,=0,33

L*95=923,60, A=1 4 A, =0,08¥6, ¢=0,84
L*1=593.26, A=( J14, Ay, 0,0048
L*36=260,92L% 7' 13,26 =18

 » =1

application
range

(ax=0,2  xw=5

CED21-1A
logAY) LABJINDu2

AY trislimulus vaILLe difference

Y=L w nc=100,
L*Laganpu2=IN(A1n+A2nY)/(A2rA0n)  (Yac/100<Y<=Y,o)
L*Laganpu2=IN(A 1t A2 X)/(A2iAon)  (X=YTYy)
dv:AOn(A1n+A2nY)=A0n(A1n+A2uX) X:YIYU
Aonpes=1,5, Aon a=1,0, see CIE 230:2019

3 dY,

loggehy)=0,38, %-‘&9@ Ay F08° /16' ¢=0,84=
dY26=0,10, A=0,014 £, oods appllcatlon

dY; 0,03 Y,.=12 % =0,10
360,03 I o1

XN=0,2 Xw=5

CED21-3A
log (AY/Y) LABJINDuU2

tristimulus value sensitivi
S=(@AYH) YomL*w =100 4

nc’

L* LaABINDU2=IN(A 15+A2nY)/(A2rAcn)  (Ynd/100<Y<=Y,0)
L* LABaNDu2=IN(A 15+ A2) (A2 Aon) - (X=YTYY)
AYY=Ag(Arr+AgnY)Y=Agn(Ar A XY
(dY/Y}5=0,0050, A=1,0, Ay, =0,0876, ¢=0,84
(dY/Y)g=0,0056, A=0,014, A4,~0,0048
(dY/Y) ¢=0,0098 Y,=18, dY=0,10
log(dY/Y)F-2,24 m=-0,50> ~ _
L*,=593 dY,=0,1Q dY,/Y,=0,0056 ~ ~
1

L

XN=0,2 Xw=5

CED21-5A
log (Y/AY) LABJINDu2

tristimulus value contrast
C,=(Y/AY) YorL ~100

nc’

L*Laganpu2=IN(A1n+A2nY)/(A2rA0n) - (Yac/100<Y<=Y,o)

L* LABINDU2=IN(A 15+A2) (A2 Aon) - (X=YTY)

YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]
(Y/dY}y=198,78, Ay=1,0, Ay =0,0876, ¢=0,84
(Y/dY)g=176,51, A=0,014, A4,=0,0048

L (YRRTES G YRV

log(Y/dY)2,24 m,=0,13 - = = ~

application

LABJINDuZ2 relative standard lightnessL*/L*

LHIL* Yoc=L*w - nc=100,

L* LaBaNDu2=IN(A 1n+A2nY)/(AorAon)  (Ynd/100<Y<=Y, ()
L* aaNDu2=IN(A 1+ A2X)/(AoAgn) - (X=Y/Yy)
L* (3,6)=261L* ,(18)=593 L* 1y (90)=924
L*gg/L* =1,55, Ay=1,0, Ay =0,0876, ¢=0,84
L*1g/L* 1,00, A,=0,014, A4,~0,0048
L*3dL*,=0,43,L*=593,26 Y=18
log[L*/L* =0, m,=0,33
L* =49, L* =593

CED21-2A
log(AY/AY,) LABJINDuU2 relative

tristimulus value difference

AYIAY, Ve irl
L*LaganDu2=IN(A1n+A2 ) (A2rAn) - (Yad 100<Y<=Yyo)
L aganpu2=IN(A 1ntA20X) (A2iAon) - (X=YTYy)
dY/dY =(A1+A X (A1 +AY)

dYoy/dY,=4,43, Ay=1,0, Ap=0,0876, ¢=0,84

dYyg/dY,=1,00, A=0,014, A,=0,0048

dY3,¢dY,=0,31 Y,=18, dY=0,10 P

y

10 dY,/Y, 00056 /
application
nge

=1

CED21-4A
log [(AY/Y) | (AYIY),] LABJINDuU? relative

tistimulus value sensitivity
SISU=OYNIAYIY), oo e YEHE TS

nc’
L*LaganDu2=IN(A 17+ A2 Y)(A2rAon) - (Yad/100<Y<=Yyo)
L aganpu2=IN(A 10+ A20X) (A2uAon) - (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)
(AY/Y)o/(dY/Y)=0,88, Ay=1,0, Ay, =0,0876, ¢=0,84
(dY/Y)g/(dY/Y)=.00, A=0,014, /5,=0,0048
@YYy g(dY/YV)=1,24 Y, =18, dY=0,10

log[(dY/YY(dY/Y),]=0, m;=-0,13 il
L* =593 dY,=0,10 dY,/Y,=0,0056,
Ix,=1

XNn=0,2 Xw=5

CED21-6A
log [(Y/AY) I (YIAY),] LABJINDuU? relative

/Gy =(YIAYY(YIAY), t\|(st|n|‘_n*1|us value contrast

nc™

L*LaganDu2=IN(A1n+A2Y)(A2rAon) - (Yad100<Y<=Yyo)
L aganpu2=IN(A 10t A2X) (A2pAon) - (X=YTYY)
(YRYY(YIAY)=[X/(A1n+Az ) (A 1n+A20)
(YIAYyo(YIdY)=1,12, Ay=1.0, Ay, =0,0876, ¢=0,84
(Y/dY)g/(Y/dY)=1,00, A=0,014, /5,=0,0048
(Y/dY} ¢(Y/dY)=0,64 Y, =18, dY=0,10

log[(Y/dY)( YldYL] S0 mZz013 _ ..

application

=1

XNn=0,2 Xw=5

indino Ae|dsip Jo Juswainseaw Joj uoneoldde
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Yi=

CED21-7A CED21-8A
CED21-7N

TUB-test chart CED2; LABINDU2*(Y) & L*(Y), Yh=(Y&L*) wnc x=0,86, with more data
Absolute and relative lightness, sensitivity and contragt=2A5, A1n=0,014, A,=0,0049, A,=0,08




